
Maths Department Exit Ticket

Topic: Expressions, Functions and Formulae (Core/Depth)

Q1.
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A. output = 8, 14, 16. B. output = 1, 3, 4, 6.
Q2.
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A = middle = 7a + 2b. top = 10a +11b. B = middle = 5e – f. bottom left = e – -2f. bottom right = 3e + 4f
Q3.
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a.  2(3x + 4) + 6(x + 2)                                          b. 4(x – 3) + 7(2x – 1)
= 6x + 8 + 6(x + 2)                                              = 4x – 12 + 7(2x – 1)
=6x + 8 + 6x + 12                                               = 4x – 12 + 14x - 7
=12x + 8 + 12                                                     = 18x – 12 - 7
             = 12x + 20                                                          = 18x - 19
Q4.
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a. 3m + 10. B. m / 2. C. m / 5 + 3. D.(m + 2)2 E.(m-4)6
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a.  6p + 12 b. 42cm
Q6.
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X = p – 5

S:	I can _____________________________

_______________________________________

T:	To be able to ______________________

_______________________________________
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EXpand and simplify these.
a 2(3x +4)+6(x+2) b 4x—-3)+7(2x—1)
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Use m to stand for a mystery number.

Write an expression for the number Joe gets when

a he multiplies the number by 3, then adds 10

b he divides the number by 2

¢ he divides the number by 5, then adds 3

d he adds 8 to the number, then multiplies by 2

e he subtracts 4 from the number, then multiplies by 6.
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a Write an expression for the area of this rectangle,
using p. Multiply out your answer.
b The value of p is 5cm. What is the area of the rectangle?

p +2cm

6cm
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All the prices on Charlie’s stall have gone down £5 in a January sale.
Write a formula that connects the sale price of an item, P, to the price
before the sale, x.
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Work out the outputs of each two-step function machine.
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Copy and complete these addition pyramids.
The expression in any brick is the sum of the expressions in the two
bricks below.

3a+2b+7b
=3a + 9





